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PART -1: GENERALENGLISH

What made the people think the Potter was humble?
(1) Hebowed to all the people
(2) He walked to the palace without climbing the horse
(3) He obeyed the tiger ’
(4) Heliked to be the general of the Army

Will you try out this problem for me? (Idénﬁfy the expression) 3
(1) giving permission . (2) seeking permission’
(3) seeking help : . @ suggestion

. Mis. Slater was a Vigorous woman with straight talking.
What is the part of speech of the underlined word? ‘

(1) Noun o . (2) Adverb
(3) Preposition - (4) Adjective

What was the transformatlon brought by ‘Wangari Maathal in Women‘? .
(1) She taught them to collect wood in the forest,

(2) - She provided all the basic needs for them.

(3) Shemade the women feel confident and mdependent

(4) She involved them in war and conflict.

What did Roberge find in ray when he refused to spoil the reputation of the culprit?

(1) humane concemn - (2) aggressive approach
(3) intimidating : - (4) hatredand disconten_t
When Gop_al (reach) the temple, it _ - L .(be) filled with devotees.
(1) reached, is | | ", (2) reached, had been
- (3) reach, was ' Q) reached, be

R

. Ganesh plays cncket He pla.ys chcss too.

(Combine the sentences with ‘not only-but also ) .

(1). Ganesh plays not only cricket but also he plays chess.
~ (2) Ganesh plays not only cricket but chess also.

(3) Ganesh plays not only cricket but also chess.

‘. ~ (4) - Ganesh likes cricket not only, but also hejplays' chess.

Yoo
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Which are the ‘Alliteratives™ amdng the following.

. a) ‘easy-peasy - | ~ b) mish-mash

¢) helter-skelter | B d) ‘ting-tong __ T

_ Why was the young teacher summoned by Lakshmana Salsl:ry‘7
(D The young teacher was new to school.
"(2) Because he wanted to see the young teacher.

(3) Because the young teacher tried to poison the minds of childten on rehglous dlﬁ"erencesl '

N (4) Because the young teacher did not have accommodation in the village.

10 o j
- (1) Signature. (2) Subscription  (3) Salutation (4) Station and date

How do we start a letter in‘A LETTER TOAFRIEND”?

11,

. Youkeep this money. It may be a help for you
“(Combine using ‘if”)

(1) Ifyoukeep this money, it may bea help for you.
(2) Youkeep this money, if it may bea help for you.

. (3) Ifyoukeep this money, it may not help you.
- (4) Ifyou help me, keep this money.

12.

Where-can I get a few stationery ltems? (Change into Polite request)

(1) Where is the stationery shop?

(2) Please give us some stationery items.

(3)- Could you please let me know where I can get a few stationery items?
(4) Getme a few stationery items.

13.

Which of the following have a concluding remarks in creative expréssion?
(1) - Diary entry : _ (2) Aspeech

14,

(3) Conversation 3 (4) Alltheabove

Identify the correct sentence. .
(1) Thereisn’t enough food for all the invitees.

" (2) Thereisn’t food enough for all the invitees.

(3) There is food for all the enough invitees.
(4) There is enough food for all the enough invitees.

15.

In which of the followmg letters is the subject specxﬁcally mentjoned?
(1) Letter to friend : (2) Letter to mother

(3) Letter to uncle (4) Complaint letter

V-General English ' 4-E



Question Paper E
Booklet Code

-16. Abiographical sketch is

(1) thelife history of one self,

(2) ‘the life history of others.

(3) thehistory of great kings.

(4) the life history of assassinated personalities.

17. Mrs. Jordanisa woman. (Choose a right word that fits to Mrs. Jordan’s character)

(D) complacent (2) greedy (3) mildand sober (4) (1)and(2)
1 8 What was tﬁe threat to Sunday Nana’s village? | | o
(1) children and chickens . (2) poisonous chemical drums
(3) skull and cross bones (4) the chief

19. Which ofthe sentences given below is defining relative clause?
(1) Joy, who could not get a job, felt depressed. ' |
(2) Theman who was selling balloons was very old and weak.
(3)  Rajani who lives next door, is a TV artist.
(4) Whois the world famous artist?

20. Identify the sentence that is in Present Perfect tense.
(1) Rupa has passed the test recently, -
(2) They had changed the residence address.
(3) Gowri delivered a wonderful speech.,
(4) Children are making noise in the class.

Question No. 21 to 25 : Read the following passage and answer the questions.

There was a small village called Sonam. There was a young girl named Ema. Ema loved to
explore the meadows and woods around her home. Everyday, she would discover new and exciting
things in nature. , . ' o '

One Sunny morning, while Ema was wandering near a stream, she spotted a glimmering
stone. It was unlike any stone she had seen before, and it filled her with wonder. She decided to
show it to her grandparents who were wise and know about precious gems. -

To Ema’s surprise, his grandparents revealed that the stone was a rare and valuable gemstone
called a sapphire. Ema’s heart was filled with joy, and she learned that sometimes, the most
precious treasures can be found in the simplest places. .

21. Whatdid Ema discover while wandering near a stream?
(1) avillage ‘ - {2)  meadows
(3) nature (4) glimmering stone

V-General English 3-E
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22.

23,

Who rcvealedlthe identity of the glimmering stone to Ema? '
(1) grandparents (2). parents  (3) neighbours (4) friends
. What did Ema find near the stream? _' L
(1) Asapphire - - (2) A pearl - "(3) Aseashell>  (4) Apebble
24. . What did the grandparents reveal about the stone? _ | |
S Y| Itwasararestone. ' . (2) TItwasavaluablestone.-
(3) Itwasagemstone. ‘ (4) Alltheabove.
' 25. Which word in the passage means to disclose’? :
(1) reveal . . (2) joy (3) treasure .. (4) precious
26. Whait does Lincold’s life'teach us' in the lesson S
- ‘E%rery ‘success story is also a story of failures’
- (1) Success can be achieved only at 52.
(2) Tosucceed in life is very difficult. . '
(3) Arelentless hard work can give success.
(4) Failure is not a stepping stone to success. -
27.  Which among the following is an Advice?
(1) You should not wear helmet while driving. |
(2) Youshould consult a doctor for your ill health.
(3) Come to my place for entertainment. . o
(4) We should go to school late, shouldn’t we?
28. The crops grew well this year. We are'hapiay with profits.
‘(Combine the sentences using ‘since’) : \
(1) Since we are happy with profits, the.crops this year grew well.
(2) Since the crops grew well this year, we are happy with profits.
(3) Thecrops singe this year grew well, we h are happy this year.
(4) Thecrops this year grew well, we are happy since with profits.
29." “Iamsorry, I cannot g0 with'you”. (Identify the expression)

(1) Secking permission . (@) Reﬁxsi_ngpermission )
(3) Expressing inability * (4) Expressing fear

V-General English . 6E
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30. Why did the house wife in the lesson ‘What is My Name’ forget her name?
S (1.) Because she made scrubbing and swabbing as the chief mission in her life.
(2) Because she became busy with her office work. |
(3) Because she lost her memory.
(4) Because her husband didn’t like her name.

31. A manwho loves mankind is :
(1) Superman . (2) Philanthropist
(3) Physicist L ~ (4) Fatalist

32. Fillin the blank with an indefinite pronoun.
s perfect in this world.
(1) She : : (2) Noone
(3) . Myself o (4) He -~

33. Change the Voice.

Guru started a new business.
(1) Anew business was started by Guru. -
(2) = Anew business has been started by Guru.:
(3) Guru’s new business was started.
-(4)  Anew business is being started by Guru.

34. Use the right Prepositional Phrases. .
bus strike, I will drop my trip to Mysore.
(1) Inspite of o (2) Instead of .
(3) Incaseof - (4) Accordingto

" 35. Raywas an aloofand intimidating person for the outsiders.
' (Identify the synonym of the underlined) '

(1) frightening - (2) encouraging .
(3) intolerate ' _ - (4) intellectual .
36. Inthepoem ‘A plea for India’, what was the central theme?
' (1) Unending violence (2) Riots

(3) Proud and Confident ' (4) Unity

V-General English .. 1E
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37,

40.

He , (give) an entrance test before he ~_._(join) Air force.

(1) hadgive,entered = ~ (2) gave,enter - |

(3) - had given, entered . o (4) givenandentered -
38. Sav1tr1 was awarded the title ‘Mahanatl for her

(D) good number of movies

(2) forher supcessful direction

(3) - for her humanity and generosity

(4) for her unbeatable talent
39. “What was the father surge to his son'in ‘Once UponATlme

- (1) . Father wants to shake hands with frlends

S (@) Father wants to relearn how to laugh. . .

- (3) Fathier wants fo change faces accordmg to the situation.

e} None ofthe above, - |

Whlch is NOT a correct statement about Abel Merry weather? _

(1) Abel Merry weather stayed some days with Amelia and a part oftime-with Ehzabeth.

.(2) Abel Merry weather announced his marriage with John Shorrocks.

(3) Abel Merry weather was dead. -

(4) Abel Merry weather wanted to chahgé his will.
41. Veena is fond music. K -

Wt @ of (3) by 4) . vith
42. Thaven’t got L épples in my basket. , ‘

(O some (2) each (3) any ‘ (4) every
43. The Gofx_ernment has declared emergency. (Change the voice)

(1) Emergency has been declared by the Government.

~(2) Emergency is declared by the Government.

3) Em_ergéncy is being declared by the Government;
(4) 'Emergency-yvas declared by the Government.

V-Genieral English © 8E
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44. Some of the students scored low marks in the Exams; , the teacher arranged a
series of remedial classes. o ‘
(1) sothat - (2) because
(3) inspite of ‘ (4) consequently

45, Who influenced Kalam in hisl childhood that changed his future?

(1) Ramanatha Sastry L (2) " SivaSubramaniaIyer
(3) Youngteacher (4) Kalam’s father
46. Narayana Murthy was by nature.
(1) selfish (2) malicious
: (3) introvert : : (4) timid

47. What does the poet wish to convey through the poem ‘Or Wlll the Dreamer Wake?’
(1) thedesireto wake up the human belng
(2) the people’s reluctance towards the protection of animal world.

(3) the need to stop the extinction of arumals
(4) allthe above .

48. __What stopped the narrator'ﬁ*om carrying his luggage?
(1) the narrators education
(2). the narrators white collar job
(3) thenarrators laziness

@ (Hand()

49. What is the one-word substitute for ‘A hand written document’?

(1) manuscript g | ©2) mandocs
(3) news item B (4) monologue
20. Theaccident sadly resulted - the death of a man..
(1) by | (2) to
(3) in L (4) into

V-General English 9-E
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PART - Il : MATHEMATICS
. ) . ' - (xz), N ‘ . i
The solution of the equationlog, | log, ' |=0 18 ' ()
' ' | ) J¥ 10g, [log% J= 0 wlslr
m x=1 2 x=+2  (3) x=4 @ ~x=+7
52 1f logx’y’ =aandlog = then }"g" - | .,
: - ogy - ..
logx = ;.}’logﬁ.:b 1l 'logfzyz '=a/_(l S
' Clogy y
a-3b | o  a+3b.
BONS a+2b . | _(2) a-2b
at26 3 a2
@ o | TS -
53. W_hich of the following is an irrational nﬁmber‘? _ ' -
| | e Pl gdt L
M 272 @ 2335 @ =n . @ 3146
54, Ifp=2x4x6x.x20and Q=1x3 x5 x...x 19 then the HCF of P and Q is
QAP Q=1 X3 x5 % x 19 M p=2x4x6x...x20/]
@ 3?57 2) 3t.s () 357 @ 33,52
Which of the following is true, if A = {1, 2, {3, 4}, {5}}? .

e Dol s A = (1,2, 3,4}, (A |
1) {3,4cA @) 3eA |

3) n(A)=5. SR @) {5} eA.

V-Maths ' .I " 10-E



~ Question Paper E

(1) p—ag—o>br—c,s—>d
3 " p—>c,q—>cro>as—>a

Booklet Code
56. Match the following.'
| B T4
P A—(BUC) a)
m
9~ (A-B)N(A-C) b)
;
»  A-(BNQ) e
o "
5) (A-B)U(A-C) d)

2) p—aq-o>br—ods—oc
4 p—raqgq—odr—oc,s—b

57. Statement: A= {x': xeZand x <5}

Statement 11 : Bz{x:xeN and x<1}

Choose thé éorrect answer.
(1)  IandII both are true,
(3)  listrue, Il is false.

_uj.__,J'Ku,JJMII 21
Dol ssle 3K

is a finite set.

is a null set.

(2)  IandII'both are false.
4)  1is false, IT is true

..‘:_"_ub,{"d‘l‘;ug A;{x:er Al x<5} Ik

-/"_d’.{dl}‘.g B={x:xeN sl x<1}: II‘L’JE:

) Uty s T (1)
4 oKl Dbl (3)

V-Maths
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If n(A) = 15, 0(8) = 13 and-'n(An'B) 0 then n[ (AUB)-(aNB)]=

_ 62.

~ roots of the equation, -

58..
[(AUB AnB]— - n(ANB)= IOJJln(B)—ISrn(A)—IS/r‘
o 18 -(2) 12 (@) 10 - @ 8
59, If o, B are the zeroes of. the polynomlal p(x) =x% + 3x 4. Then find a quadratlc
polynomial whose zeroes are a? and B2,
, _urB%!asz&fér)”u(/&w..fgw/ﬂép(x) x +3x 46//[%3' oc/ o ‘
1y = 2% - Ax+T () x 2_3x+7 (3) x2 17x+16(4)  x —16x+17
60, If a, B y are the Zeroes of ax’ + bx2 + ex + d. Then match the following.
o __Jﬁjid:gj;u»’._/Ufny:lBra/£m3+bx +cx+d/'/
‘ 1 1.1 . a
—_—t——_—= ) ' . L ——
p). « By | -2 d
q a+pyt= -
11 1 b
r ——t—t—= : C —
S A A ) d
. , | ) |
o il o o 2 .22"6‘
- a By a
(1) p,—>b,q—>d,r,—>c,s-?>a ) 7p—->a,q—>b,r—->c,,s—>d |
3) pocg-ar—d, s—>b. 4 p—dgocro>as—b
61. If one of the zeroes of x3 +ax? + bx + c is -1 then the. product of other two zeroes
" maybe
. _‘L‘CC,‘- ..‘//“’Jilv(wj%;d@..?ﬁ ~1 LI 3 ta+brte ]
(1) b-a+l () b-a-1 (3) a-b+l (&) a-b-1 |
If the sum of the roots of the equation _1 + I _Li zero, then the product of the

x+a x+b ¢

. . L. . 1 11 .
V/J‘{a(Uﬂjulgﬂ/ljijUﬂJZ: P —-—b—;cJJLf o

at +b° @) (a2+b2) 3). - ab () (a+ b)

(1) 2 Ty 2 2

'V-Maths . 12-E
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63.

For what value of k, do the equations 3(k — 1) x + 4y = 24 and 15x + 20y = 8(k + 13)

have infinite solutions?

L JSGIL 5% + 209 = 8(k + 13)s13(k— 1) x + 4y =24 w2l 500k
1 1 ' @ 2 3 3 “ 4

64

If an ordered pair satisfying the equations 2x — 3y = 18 and 4x — y = 16 also satisfies
the equation 5x — py — 23 = 0 then the value of ‘p ‘

ey /Lﬁ,_c_t/u«"‘f dx—y=16 1 2x~3y= 18ubl/(0rdered Pair) 1472 (]

AL u/d._/(j“b‘(f{:( Sv-py~23=0

®m 1 @ 2 @ - @ =2

65.

Value of ‘x* from the equations 27+ = 2% = f32 .

' J:’J ‘Xl XY = 2% = 32 e lils

m o o 3 ® 5 @ 3

66.

Assertion; The pair of equations y =0 and y = -8 has no common solution.
Reason : The line y = mx, (m € R} is passing through the origin. |

Now, choose the correct answer. ‘

(1)  Both Assertion and Reason are true and Reason supports the Assertion.

(2) -Both Assertion and Reason are true, but Reason does not supports the Assertion.
(3)  Assertion is true, but Reason is false.

(4)° Assertion is false, but Reason is true.

_.c;..UﬁU’J}ﬁ'Jf(y=;8 JJl.y= 0 dﬁﬁd/cabl/ : el
..‘L(.jjfc‘.—’ﬂ (meR)y= mxks ;:.
-éulfl(uii('j;.d’wy

...:_d):vt'd/ 73] ,»m!u*u;u,wi STy (1)

e QIS e I e s ()
K ol Dl (3)

J;LQ:?,’J,»_;_,_,;K LI Y

: V-Maths 1 é-E
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67. IfA=tan21°- tan19°, B = 2°cot71° - cot69° then | R
| | B =2 cot71° - cot69° « A = tan21° - tan19°/]
()  2A=B @) 2A=3B (3 A=2B (4 A=B

" 68.  sinf=0.908=>cos(90-6)=

@ 098 (2 0092 () 59.0'92‘ @ 1

69. 'If x=2sin’@,y = 2cos 0+1 then which of the following is true?
L _au;uuf‘:.u‘d;_/uy 200s29+1<x 2311129/
@) x-y=1 () x+y=2 .-(3) x+y=3 ‘(4) Peyp=3

70. If\[—4+ \F+16cpsec49+sm f=A cosecG+Bsm9 then the Value Of— . | '
.(here 0°< @ <90°). '

”’J §=___'_ - \/j4+\/8+16cosec49+sin49 =Acoééc€+Bsin9ﬁ
S | L (0°< <900l
@ - @ 2 3 =2 @ 1
71. coszz°+cosz4°+cosz‘6°‘+...+cosz90°= | |
M 23 @ 2 . (3 1 @ 0.

T2, ifcosa=%andsinﬂ=lthen.thevalu£ ofa+pB=

. (0°<a<90° 0° < B <90%)

| 1
(0°<a<90°, 0°<ﬂ<90°)uw1ﬁ6a+ﬁg smﬁ'—--—;,lCCDS():—';Z
RO @ 90 @) 45 @ 30
73 Ifx= fl—cose then 2x§= :
1+cosé . 1-x
2 L= l—cosﬁjl
1-x2 7 Nl+cosd ™
1) sind (@) cosé 3) cotf 4) tand

'V-Maths | 14-E
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T4, Solve x=——ix#2
- ' . 2 — i 1
i
2-x
x= %—;x £2 85 f
2- 1 '
P
) ) 2 - X
1B 4 2 3 ® 2 “ 1
75, If sina and cosa are the roots of the equation ax? + bx + ¢ =0 then b2 =
b2 = 1 %J:.Caxz +bx + ¢ =0 & hls cosa J;’sin_aﬁ
(1) c? +2ac (2) a?+ ac (3) a?+2ac (@) A+ ac
76. Find the quadratic equation, if x = \/ 54+4/5++/5+..00 and x is a real number.
_2.':(}”‘:,1:1/6.»»&@? x= \/5 +45+/5+..00 .Al‘a.w&?_?’._g x’
1O x¥-x-5=0 @ x*+x-5=0 '
(3) x2—x+5=0 | 4 x2+x+5=0
77.  The values of ‘k* for which the roots of quadratic equation x2 + 4x +k =0 are real.
| _q_:z_ﬁ&“’gjé 2+4x+k=0 u:«f:l/(ﬁ»»ﬁ.ccu»ﬁd'/é‘k’
(1 k=4 2) k<4 3y k24 (4 k<4
78. Thepole of 9m high caéts ashadow 3./3 mlong on the ground, then the Sun’s elevation
is - |
Hpslie e bl 343 LA L9
(1) 60° (2)  45° 3 30 - 4) 90°
How many multiples of 5 are there in between 33 and 3727

St L 5Ll 3728133 316!

) 66 @) 63 (3) 68 @) 67

V-Maths | | 15;E
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One of the values of x’ wh1ch satisfies the equat1o

F Bt
(Wherex¢3 andx¢0)
L AL S S \PZ \/‘ e

I : : o : (x¢3131x¢0ub?) N
N - P R © B R S

- 81.

85.

Find the sum of the series o * .
1+ (A2 + (14243 + (L4243 44+ + (14243 4., +20) .
(1) 1470“ S (2) 1540 @) 1610, (@ 1370
82, If 14345+ - upto 7 terms _ 9thenthevalue of nis -
2+5+8+ .upto 8 terms -
JJU/H&-/ 1+345+.. Lobin :9fl
o _ : : g 245+84... LB
(1) 30 2 28 @ 25 . W 3
83. If the mth term of an'A.P. 1sl and nfh term 1slthen the (mn)th term is
n m
Ugub(m_n):’y: JL}"‘H’A"‘JL}’J‘M’(APJ[
1
BHn o @ 1 €) @) m+n)
84 Find the slope of the line joining the points'(l_ogg,logg )and (logp_ log} )
JbinleLi&f (log2 log® )J}I (10g§,10g§7) J,t'ﬁ; '
1) log2 @ 1 @) 2 @ 0
Find the length of the longest side. of the triangle formed by the line 3x + 4y = 12

with the co-ordinate axes.

| J:bl(éﬂ/a.u/lfwdlu*_a.u»fwul[ﬂ 3x+dy=12
1 9 . 2) 16. 3) 5 4 7 |

V-Maths o 16-E
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86. If(2,4) is the mid-point of the line-segment joining (6, 3) and (a, 5) then the value of
ais o
: JJGJ 'a' (2, 4),5'03()}’/3(1:5;5&'52.11-/ (a, 5)-I(6, 3)b
m . 2 @ 4 = 3 4 @ -2 |
87. In AABC, MN // BC, the area of quadnlateral MBCN = 130 sq.cm. If AN : NC = 4:5
then the area of AMAN is sq.cm. ,
2§ AMAN.AN :NC =4 : 5/ F /A 6/130,;)( MBCNGJ“’ lmlMN // BC u‘AABc |
| -/d/
B _
3 (H 32 (2) 45 3) 36 - (4) 39
] : . . .
88, _ In AABC, if £ZB = 90°, BD is altitude on ACand AB=¢,BC=q, AC=5,BD=p -
| then ) ' : -
 mBD=pAC=bBC=a<AB=c s BD c@l(s&ﬁ AC « ZB=90°JIXAABC
A .
b
, c D
P
B a C
1 1 1 ' I
- = 4 — =4
oty P T
1 11 | 1 1
(3) c_z_a2+b_2 (4) ?z?“i'c—z
V-Maths
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89

If the ratio of the correspondmg medians of two 31mllar trlangles is 2:3 and the area

of the smaller triangle is 48 cm?; then find the area of the larger tr1ang1e
(1) 108 cm? Q) 72 cm2 - (3). 96cm? (4) 144 cm?

c’{rrl””,ﬁ/(ul-‘d_/:’f/@/%))KJL—:‘?AL’Z 3JJU:‘(&«J)’L*:’:HWJP»
Uy 144 ST @ SYT2 @ SUres O

90.

Froma pomt ‘P> which isatd d1stance of 5cm ‘from the centre ‘O’ of a circle of radius

3 cm, the pair of tangents. PA and PB drawn to the circle. Then the area ofthe quadrllaterall :
PAOB is cm?.

AIPAdJi J u’l/..f /4./1;4? ,w,( :.?r'/dw/"sL‘O’)}Lg/lgé.b)’w/3

<ty JJI{PAOBdl')bu_Zg PB |

O\ 5 om P

"o

@ 12 . @ 20 @ 15 @ 25

91,
" ZAPB = 60°. What is the value of ZAOB?

In the figure, PA and PB are tangents of a circle with centre ‘O’ from a pomt ‘P’ and-

/5§ £AOBn LAPB = 600 L2 s0 Il b7y O e ‘P’Jle/PB A PA u‘d‘

9\\ '
/ "
B

Qe @ 00 @) 1200 (@) 60°
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92.

If the sides of a right triangle are x, 3x + 3 and 3x -+ 4 then the value of x is .

u’(,(‘x’ M 3x+4 s 3x+3cx Cllﬂﬂféuir‘,«:l)l(bu(j
) 9 2) 8 3 7 “4) 6

93.

Five cubes, each of edge 2 cm, are joined end to end. What is the total surface area of

the resulting cuboid in em??’

..é’:r:l”u*/dfgjgi/JKVJC_UbLC)J’ L wfux“su,/z .,M/
1 88 @ 40 @) 60 @ 56

04,

A cone of height 24 cm and base radius 6 cm is made up of modelling clay A child
reshadpes it in the form of a sphere. Find the radius of the sphere.

(1) 8em _ 2 6cm
3) 9cm - ' 4" 12cm

udnf’d:ﬂ(j’l)._LJ,U‘/‘6/=’...M(4_JWG'JJ’/'24 dAJu)U/LbLJfJa.UJb’;
. _ ' ép’"’)’w‘”ﬁ){’@/

/A6 2 A8 (1)

12 @) : : 9 3

95.

RO ‘(2) o 3 = - @ Py

- All face cards are removed from a deck of cards of 52 and one card is taken randbmly

from remaining cards. What is the probability of getting a black ace?
uﬁl]b’, TN 179 J :"ﬂa-gﬁu:gé_riuflfbbfu:fﬁﬁcrv;u“u;~£u’lr52

ULy

1 1 - 1

26 20

96.

The probability of anevent ‘E’isa number'sucﬁ that
| 7 | (,)u‘ |¢.JJ£|—( (94" UK E’,a’l:..f

) o0<P@®<1 @ 0<p(E)<1

@ o<PE<I @ O<PE<I
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97. If anumber ‘x’ is chosen randornly from the numbers 1, 2, 3, 4 and another number S
‘y’ is selected randomly from the numbers 1, 4, 9, 16. Then match the probablhtles of .
. the following. .
mJ e UR16 9 4« 1z,)ww_wwdf w..( ,Vua,m 32 Lol
_c:... gju’ !L_.«.L,L;J J,?JM._..L'(U/J :( |
p Py<h= . 5
QP  Poy<d)= | by
n o Rw<9= . 9. =
| o ' 16
s)  Pay<le)= A0
Now, choose the correct answer.
) o -éutf’lgu’igu]; -
(1) p—oagobrocs—>d (2 p-d, q—>c r—>bs—>a
| (3) p—ragq-obrods—oce @) p—cqgordr—oa s—>b
98. - Thetotal surfaceareaofasolid hemisphereis 108w cm2 The volume of the hem;lsphere is
' cm3. o
il f Ka/_.wwl /6/108n,:;b’i"f%/uﬂuﬁf
(1) 144n (@) 546 ' (3) I 108\/_
99.  If the mean of x and - is M, then the mean of x3 and —1— =
X %3
Jll(—'—»bc3.._f:’ M’wa(-—ﬂl /
(1) M3 (2) M3+3 (3) M(4M2—3) (4) ‘ 2

- 100.

The mean and median of the data a, b and ¢ are respectively 50 and 35, wherea<b<c."
Ifc—a= 55 then b—a= ‘

b—a= c—a= 55/ la<b<c Ul 3501500 o lbosshosl§ cosl a, b

s @ 7 @3 s @ 3
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PART - HI : SOCIAL STUDIES

| Barren and Narkondam volcanoes are found in this country
(1)} * India _ : (2) Indonesia
(3) Italy (4)  Ivory Coast
- - o -u*cibu"_ﬁuugxuuw”( Wbz
Lkl (2) | Q.L/JM (-
, ‘.d/)@)»df 4) : ' _ _dl-’l (3)
102, ‘Terai’ is a C ) . '
(1)  Swampy area _ - (2) An Animal name
(3)  Historical place ~ (#®  Anancient fossil
| . | e
rlsedl () . S Akedas )
Pl @ o _rtuiw 0
103.  The coastline of Goa State is known by this name o
(I) Koramandal (2) = Malabar ~ (3) Konkan (4) Canara
- - e bl 1 N Wl
Zow WY A @ Jad )
104. Which among the following statements is / are true regarding ‘development’?
1) Different persons can have different developmental goals.
" i) - Development for one may not be development for the other.
(1) (@)only : (2) (ii) only
(3) . () and (i) . (4) None of the two
' ;i;?fﬁm/))-a.wdjgjﬂg}b’a—“d/“”
L BLL L5 G
o Sn 3 L 338 G
RO 2 ) HS” Ay
ety @ | NOZIGINE)
105. " This is not applicable to primary sector

(1)  Mining . (2) Fisheries (3) | Férestry - (4) .'Ba,nking. ) |
. ‘ - . -rruf.(,cc?-idﬁ,&y K
e I B (T ) N S S e)
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106.

Identify the State which.doés not belong to Tuhgabhadra'river basin. '

(1) Kamataka (2) Maharashtra (3) Telangana (4) - Andhra Pradesh
- _ N _'élﬁiEJJMLJdng;JWLiQ(&DfLLJJ
| FogsT @) & 3 Bl @ 0 S
107. A movement against the construction of Sardar Sarovar Dam. - -
~(1). Chipko movement - (2) Meira paibi movement
(3) Narmada Bachavo movement  (4)  Green peace movement E
| LA SBLED LTty
LA @ v ¢ B O I
| S @ s Q)
108. This country is a great example of the ideology of ‘Fascism’. '
(1)  England (2) Italy (3 Russia (4 France
: _gz.dt‘fq/":(\.ﬁ._ﬁgiﬁuﬂﬂ?fﬁ’f
SR 7 R S VR RN ) SRR I ()}
109. Find out the wrongly matched pair. | '
" (1)  Suvarnabhoomi International Airport - China
(2)  Cairo International Airport - Egypt
(3)  Heathrow International Airport - England
(4) - Indira Gandhi International Airport - New Delhi
| o _etesensk
- (pfu%)ajfalﬂdljﬂlwf%)f 1
Egypt - o5ldfﬂd’:‘?‘ﬂlc)fq[ 2
b _ il 3)
dols - itdi It (@)
110. Birth place of River Krishna | ‘

(1)  Amar Kantak (2)  Nandi Durga Hills

(3) Mahadeo hills ~ (4) Mahabaleswaram '

‘ : | . , rli’»(_?lgfl:.«"'/é_,.{:»
UErss @) o B )
R VA Wl B
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111.

A) Census collection is conducted once in. 10 years.
B)  The first Census in our country was conducted in 1881.
Choose the correct answer from the above information.
1 @ and (B) correct (2) (A) and (B) incorrect
(3) (A) is correct (B) is incorrect (4)  (A) is incorrect (B) is correct
_é.t‘lgl;'/g/;gufdtflo(census)G.deJLT (A
-lf[{(uff1881JV3%/L5;I,T&§:~__,¢J:J¢_JV: @
| | UGS e JE U el i
ERUMBIAA) Q). é{;i»(Bpﬂ(A) (1)
E @) @ w@AE @) G)
112. Article 356 refers to | | .
(1) Emergency . (2)  President’s rule
(3) Teaching in mother tongue - (4)  Financial constraints
~e G 6135640
e (2) @)
UG (4 U (3)
113. He described the 20th century as an “age of extremes”. e
(1) ~ IM. Keynes - (2)  Hitler
(3) Lenin ' -+ (4)  Eric Hobsbawm :
-< U/rf/c:. J}JLLSM lx”}(dﬂu‘ 22051
H @) e
Jbu" _.C'i _ | : U""J 3)
114. The tropic of cancer does not pass through this State in India. |

(1) Meghalaya ' (2) Rajasthan
(3) Madhya Pradesh (4) Tripura
‘ _Vdef;:-MLJJlU lb/i:?'@dl?)ﬁf
S Ve) SR N
0Iye s (4) ' - | ' | ﬁ){ ~2i (3)
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(1)  Jawaharlal Nehru

‘ Booklet Code
115. ‘Chinab’ is a tributary of this river. - < - oL
' (1) Ganga . (2). Godavari  (3) Sindhu ~.(4) Krishna
o : - ' ‘deUbe'JLJ)JIULW'_
- gl ek (3) uj,uf S A
116, Western disturbances come from o _ .
(1) Red Sea | - (2) Mediterranean Sea
(3) . Arabian Sea . ) (4) - Bay of Bengal .
o . o ..u“uc-ulf; J*’d/
D SR ) I JMZ// (1) |
- 117. Nigeria got independence from this country. - o '
(1) France (2) Russia - (3) Germany = (4)  Britain
. o o ‘_ _Jw’wﬁj ] Y4
BTV ) BT ¥ S €) woo@ U W
118 . Which among the following is/are not true.
1) The constitution of India was drafted and approved by the Parliament in1947.
iiy 93 people were elected frorn the provinces to the Constitution Assembly.
1y only ‘ . () (i) only
(3) (i) and (ii) ’(4) (i) is true (ii) is false -
- | _u‘/a.bivlzufa.u* S i
_J #’L/u/u*;1947¢JJLf mdlny G-
L eaBse A LT
i)—” @ - H<~ 1)
s Q) @ G 6)
119. Who among the following Indian National Leaders wrote a letter to Hitler to prevenf

(2n  Gandhiji
(3)  Sardar Vallabhbhai Patel (4).

Ambedkar

483 dw,wm,é wIHd Lo s JJ,&

SUx8 )
St @)

iz (1)
SEudn, @y
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The first general elections in Independent India were held in this year.

120.
. -Zéﬁ’;‘dbu’la@@"irE%quu%ﬁ:ljf
| (1) 1948 . (2) 1949 (3) 1952 (4) ~ 1961
121. S.E.Z. stands for |
(1)  Special Education Zone (2)  Special Economic Zone
(3)  Special Electronic Zone (4)" Special Employment Zone
' o ' e SEZ.
IS Q) ifﬂw‘fw VN ey
Il @) LS9 )
122. Find out the wrongly matched pair. B - :
(1) ° Kenya-Masai - (2)  South America - Gowcho
(3)  Tibet - Kiyong - (4)  Kazakhstan - Bushman
| | - . s es ik
2f L LR @ Svioul @
- @ SR 111 QU
123. Recommended food intake per day in rural areas in India according to nutritionists is
(1) . 2400 kilo calories 2) 3400 kilo calories
(3) 4400 kilo calories (4) - 5400 kilo calories _
| R lJfo:/zf,.’«Tju_d‘u;Mjfvﬁut’f:ﬁ'z&vaéwﬁfiﬁd ik -
4 M¥3400 @) - 4 M¥ 2400
yMEsq00 @) ;;/‘5( 4400. (3)
.124. This orgamsatlon prepares the Human Development Report.
. . e o/duw_z__mlw
1) W.T.O. ) IMF. -~ (3 UNDP. @) ~ W.H.O.

125

Literacy percentage of India in 1947 E ) ‘
| | BN 19471
(1) 18% @ 16% (3 12% 4 14%
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'

126 Whlch of the following cities was the venue for the first conference ofthe non-ahgned

movement? : r
(1) __ ‘Delhi 2) Belgrade (3 Bandung (4)  Cairo -
X » | _LafrLn»VUJ/’KJ/JJf.Jbrﬁ/VU}(c;JJJJJM
A O % &

127. Who among the following set up an organisation called Centre for Science and
‘ Environment to study environmental issues in 19807 | S
(1)  Sumith Agarwal | (2) Kishan Singh
(3)  Rajkumar Shukla B (4)  Anil Agarwal

| L(LL&A.LUUYL»IU*L’AZ:L/QWQJ'VdUYLu*1980;JK¢.u’JJ;JM
e

£ o L dbSle )
IS @ | O BL )
128. Head of the State Legal Service Authority I . |
" (1)  Chief Minister - - (2)  Chief Justice of the High Court
(3) Home Minister ' " (4) Chief Justice of the Supreme Court -
‘ . _ul//LdeluLyd!b(j’LJ ‘
Sl @ - &

Sl oty @) o b ()

129. A metropolitan city is
(1) A city with a population of over one crore. :
(2) A city with a population between one lakh and ten lakhs
'(3) A city with a population between ten lakhs to one crore.
(4) A city with a population of over 50 lakhs to 80 lakhs.

- D
| _ﬁé).l,).:_ﬁa/:.gd;ﬁg;u)-fug (D)
el BSOS AL @
gl S LIPS A B
_ﬂuyﬂéﬂmtﬂégdﬂufu’feg (4)
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130.- The Em1grat10n Act of India was passed in the year.
| _l/l/u’ Ldlfu’ (Emigration Act) J IUJ /(’ I Kulfuw'
(1) 1983 o (2) 1993 (3) 2003 (4) 2013
131." He was not a member of the States Reorganization Commission setup in 1953.
(1) * Fazal Ali : (2) K.M. Panikkar '
(3) HN. Kunzru | 4 C. Rajagopalachari
_au”/ﬁéu‘{}@yﬂd’uruééfw‘1953Jv -
KM (2) o &P o
S @ L AHNS ()
132. Prime Minister who adopted liberal economic policies in 1991 when India faced a
Severe Financial Crisis. '
(1) V.P. Singh : (2) Vajpayee
(3)  Chandrasekhar (4) P.V.Narasimha Rao
2ol T S o s skt 21991 5 i
des @ TN G)
Wi @) e 6
133. contribute to physwal growth and tissue regeneration.
"~ (I)  Carbohydrates - (2) Proteins
(3) Vitamins , - (4 Minerals .
..LL»;,u.u"'djbvutud/ufb}ll/r’db)
Gy @ B ()
e @) U 6)
134. The movement occurred in Indla against the British after the failure of Cripps

- diplomacy was

(1)  Quit-India - - (2) Non-co- operation

(3)  Salt Satyagraha (4) Champaran
' idy'C:/Jﬁu‘uwMquLuu/MLdb’Ld/_.«bla»(f/
et/ @ i (1)
W @ . VSRS NG
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135.-

The First World War occurred in the period o S

(1) 1914-1918 (2)  1939-1945 () 1918-1923 (4) 1918-1925

136. Monsoons occur between these latltudes approximately in the tropical region. '
() 5° North - 5° South (@ 10 North - 10° South ~~
3) -15° North - 15° South (4)  20° North - 20° South .
| o " -4_tx6uuﬂtuw£wuf/ult I EL s
dz10vde10e @ . gEsndese a
Cds200pde20°0 (@) g1l ()
137. _Which of the following is not a multinational company of India?
"~ (1), Tata motofs : (2) Asian Paints "
(3)  Sundaram Fasteners (4 Ford motors
- -LJW(MNC)WL}JUVJMUU:(LU*J};JM
s @ et (1)
: U @) Y T OR
138. Which of the following basic concepts refers to the characterlstlcs of the place? |
(1)  Situation o ) (2)  History of the place
(3) Site . . (4) Allthe above
| _a.Cr"r‘de*ch'._ﬂffuLﬂr"d/ iws .»;JJ»W
EASE by Q) : Jewe @)
Sy @ | SN N
139. Who among the following was considered as the maker of modern China?
(1)  Sun-yet-Sen. - (2) Mao
(3) Chiyang Kaishek - - , (4)  Yang Leichi
\ _é‘!_t'lgLLJLf"Ldp)Muw )
@ el D)
Gdtt @ | BTSN
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- 140. In 1965, he was the Secretary General of the U.N.O. who convinced the two
" countries to avoid a war between India and Pakistan.

(1) Kofi Annan ' (2) U Thant"
(3)  Antonio Guterres (4) Trygvelie

JASE A6 iimi 1 Qe uumé_LéyLGquuJ LJ;I...ulﬁ’u’" 1965JL« |

Q) ' : ol ()
&5 @ URIEFT ()
141.  Which of the following rivers is called ‘Tsangpo’ in Tibet? Ny
(1) Indus (2) Ganga (3)  Sutlej " {4) Brahmaputra
' ' -4_t'labl§c_rl-£‘?~.fb u"uﬂ:(d)bu/:;u*d:ﬂy
oW e ¢ @ oir (1)
142.  Which among the following is/are true. |
i) According to the National Census, every fourth person in India is an
| immigrant/migrant. :
" ii)  Rural-to-rural migration usually takes less than six months
(1) (only - (2) (i) only

3) (adGi) (4 None of the two
| o Y Ry 19§ P
~e i l.g’df #2 4 Kbare (Census)¥ bl Sl S K ¢
| _+Cf$,ff¢utn;4/ﬁrth‘aer_/»a,ru'»ng’:u?w@f.) | (ii

(-~ " (2 N SO
et @ . @0 @)
143.  Which of the followmg does not belong to ‘Fixed Cap1tal"7

(1) Tools (2) Machines (3) Buildings (4) Raw materials

. . . | wauwa.ﬂt/yubjgu’la.u*(f;wﬂ
Jit @ sl (3) Eo@ e’
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144. .. committee appointed by the Government to examine the pOSSlbﬂlty of
repealing the Armed Forces Special Powers Act in Manipur.
() RV Jeevan Kumar Committee ~ (2) B.P. Jeevan Reddy Comm1ttee
(3) - -M.S. Loknath Committee " (4) M. Venkatachalam Committee
| du:)//"c;ub(fuf:grj_é:élp(!&k/):bj:(urbjtuﬂffébmt‘u*ﬂ’u/
u{fuuf.d d o tfrlfuf—dﬁ-i’ ' ( )
u’-r(? Wl (4) . FEAS LI
145. Which of the following is not true regarding Right to Information Act.
' (1)  The information seeker need not explain why he wants information.
(2) There is nominal charge to get information. e
(3) ' The person collecting the information is required to dlsclose who they are.
@ Informatmn can be given in official language.
_c.u“ufJ)c,LlYLUJ’bLuL)l”JVU:Q_-u’“J:Zw
,.»_Lqw/uul’fu,fc.uL»/Je..bJJLLfLVLP )
- _c.d/d/biu"’dr‘”é_:ﬁd_/gybubl’” ?) -
-z,uzu:e._Jy.;_fufgjufé.éu,;_/w’bq# @)
_c_t'la'_l_':uful,,?d)b;ffabb’ 4)
146. 'Who among the following implemented Glasnost and Perestroika reforms i inRussia? !
(1) Lenin (@ Mikhail Gorbachev
(3) Stalin - (4) Trotski
' ' ..U:dtf»...«laﬂﬂilﬁjr’fdfﬂf._atrlf/_‘//a.u"d.wjy.
fz._JfJb ) TG
& @ g ()
147. Find out the wrongly matched pair. o | -

(1) Sukarno - Egypt ‘ " (2) . Nehru - Ind:a.
~(3) Tito- Yugoslavia ; 4) Kwame—Nkrumah-Kenya '
" " | - /‘/JLJJJ’MG
Wi - af ()  BgypyedT - - (1)

Wb @) - ok _E ()
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148. Which of the following incidents occurred earlier?
(1) Formation of League of Nation
(2)  Treaty of Versailles
"(3) Russian Revolution
(4)  Formation United Nations Organisation

B Suad i s

-p,gt;»%, @ rg's’([»s}u‘-’ ()
,»L?M‘*riﬁl @) - Wi (3)

149. This article of the Constitution of India enshrines the right to life. _
' -4.[()(_)7 (&,a’:,.a(u’ iiul/»v

w 21 - @ 17 @3 15 @4 45
150.  Accordingtothe 2011 Census, the States with the hlghest and lowestpopulatlon density
- inIndia. |

(1)  WestBengal, ArunachaIPradesh (2)  Bihar, Arunachal Pradesh

" "(3) Maharashtra, Odisha (4)  Maharashtra, Jharkhand
_,M&.../m../udwjtumm;, e ul/ur'u’lb‘z:(census)dzblﬁlZOIIJL«
. Ut et dbitT
ﬂ){;dg(.d)’-c N Q) Jflu{.dgl:uf JE )
Mg Sy @) i Fuy 3)

0g0ooaga
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